RRB PO Mains 2022
Quant Mock Paper 1



Q1) A LCD is sold at the profit of 50% after giving d % discount . If had sold the LCD after
giving 2d % discount, he would have earned 33 1/3% profit. Find the marked price of the
LCD if the cost price is Rs 1200 .

Teh LCD & d% BC &1 & d1G 50% & oA 9 &1 STl g1 FfE 2d% T &1 &
aTe LCD I, A 3& 33 1/3% &1 o glaT| Terdidr &7 3ifhd Hoa wid Hfaw
g7 T Hed 1200 T9 g

a) 2000 b) 2100 c) 2400 d) 2700 e) none of these




Q2) A and B can complete a work in 16 and 48 days respectively. If 25% of the work is
completed by Cis ( d-6) days, and remaining work is completed by A and B working
together in d days, find the time it would have taken by A and C to complete the work

while working together .

AR BT FIH H AW 16 3R 48 &l A YU & Fehd gl TG CanrT 25%
R QT AT ST & (d-6) et &, 3R AW w1 AR BEaRT d e F v @y
WWWWW% ar FF S THT AR Ce@r’T A H) QT el H
ST aTell AT AT | ey F |

a) 6 days b) 4 5/6 days c) 6 6/7 days d) 7 1/6 days e) none of these




Q3) Sum of present ages of Arnab and Bhavya is 46 years . Age of Arnab 3 years hence is
equal to age of Chirag two year ago and age of Arnab 5 year hence is equal to age of Bhavya
one year ago . If ratio of present age of Arnab and Divya is 5:6, then find the difference

between age of Chirag and Divya .

mmwﬁmﬁmme%aér%lm@rmsaﬁmaaﬁ
qéi%lwaﬁrer*quw%msaérmaﬁrmwaﬁrqéma?rm%
W%Iaﬁaﬁ"q’ﬁ'{mﬁaﬁmﬁmw 31o1q|<-| 5:6 & ar RRET 3R
feear & 3 & & F 3HW AT HIfr|

a) 2 year b) 1 year c) 3 year d) 4 year e) 5 year




Q4) A container contains 60 ltrs of pure milk . If A ltr of pure milk is replaced with B ltr of
water then ratio of milk to water becomes 10:1 and if 2 A Itr of pure milk were replaced by
B Itr of water, then ratio of milk and water becomes 8:1, Find A ?

Teh e H 60 ol Yy ¥ &1 Ifc T ofle} ¥ g¥ I & el il &

el foar Sar ¥ o g &1 Il @ eqard 10:1 & ST ¥ 3R Ay 2 e

ACY G FI o e Il A deol AT ST §, O g 3R Il 7 3equre 8:1
ST g, of9Tdr g ?

a)12L b)15L c)10L d) 20L e) none of these




Q5) Two bullets are fired at an interval of 32 sec from same place. Two persons standing at same place
heard the sound of first bullet . Both persons rushed simultaneously ,first person rushed towards the
direction from which sound of bullet comes and other rushed to police station which is in opposite side of
the point from which bullet sound comes. After that first person heard the second bullet sound after 28
sec and second person heard it after 35 sec . What is the distance between both of them when first
person heard the sound of second bullet if the speed of sound is 350m/sec.

T g T ¥ 32 s & Aol W al Mol Talg STl §1 Teh & TAT T @3 &l Fiaradi
o gl el Y TaTel ATl Sl TfFd U ATY GI3, Igel Tfdd 39 foolm &1 3R 131, S8l
g Ml Y 3TaTe 3T & IR GET gfaw T & fAvals, st 37 f§g & fAulia fegum & grar
& ST8l & el I 3TaTeT 30T g 38h 916 Tgel TTad of 28 HHs & o1G GalT el &l ATt
gail 3N g@ egferd & 34 35 Hehs & a1G ol 3o GleAl & & T ol AT § oI Ugel egiad
& gl e A AT Gl 3R eafey B At 350 A / Aohw &

a) 2450m b) 2240m c) 2630m d) 2058m e) can’t be determined




fder (6-10): fAFATAET STeTehi T €ATeTqdeh e HY AR A few 71w yeal & e

R dIc gcdig & al 3HAIT-37e0] Rt & AR 3R FAIGAR F T 3TOET-379T oET W) 3TH Qe

gﬁm a#rga%ﬁaT | aIferT 37 T 37eRT-3761T or@t @ RIEAd HIaad verT aar &1 drferer & W
ITgdd g

% discount Article | Mark Price Mark Price
60% 0% On Monday | On Tuesday
50%
% 45% _
500/ 20% N 0% P 2000
40% 30% 0% o Q - 2500
30% 259 25%
209 R 2000 1500
20% O‘Y
10% I S 3600 -
0% T - 2800
P Q R S U 3000 ;

B Monday M Tuesday

6)aldll feall &/ & P ST Hed & oI &l IR AT HAT, Il o137 1t feat & AT 20% & 3R
WaﬁPwaﬁﬂﬂWaﬁﬁ?mud Hod ¥ 28% 318 g
a)430  b) 450 ¢) 400 d) 475 o) IR A& RFaT T ThaT &




Direction(6-10): Study the following information carefully and answer the questions given below.
The bar chart shows the discount percentage allowed on six diff articles on two diff days of the week i.e Monday and
Tuesday . The table provide the marked price of diff articles on these days. Some data are missing in table.

% discount Article | Mark Price On | Mark Price
60% S0 Monday On Tuesday
50% 20% 45% 20% P 2000 -
40% 30% 0% >% 30% Q - 2500
0% 2 20% 2% R 2000 1500
- | Il k
10% I S 3600 -
0% T - 2800
P Q R S T U U 3000 )

B Monday Tuesday

6) Find the diff between C.P. of article P on both days if the profit is 20% for both days and the mark price of P on

Tuesday is 28% more than C.P of P on Monday.
a) 430 b) 450 c) 400 d) 475 e) can’t be determined



7) Find the ratio of profit of article R on Tuesday to profit of article R on Monday . If the C.P of article R on
both day are half of their marked price .

HITOAR 1 oF 3R & o1 AT HeJuTd HHIN &l oW HN & o1 & @iol| I gl &t o
AR T R Hed 5dqof%4‘i?a?rﬂ—€ra:rm%

a)1:3 b) 3 1 c)3:5 d) 1:4 e) can’t be determined
MP % discount MP % discount

P 2000 25% - 40%
Q - 20% 2500 30%
R 2000 45% 1500 30%
S 3600 50% - 35%
T - 30% 2800 40%
u 3000 25% - 10%



8) If the total C.P of article S on both days is Rs 3000 and profit percentage on Monday and Tuesday is 25%
and 20% respectively then find the marked price of article S on Tuesday.

gfg gl feall & @ T8 & Fic oneld Hod Soooxq?fr%mmﬂaﬂaﬂimraaﬂaﬁwa?
UG FHA: 25% 3R 20% &, aF HITOR FT oG TH & [AEAd Hed &I 9dl 9T
a) 2880 b) 2800 c) 3200 d) 3150 e) none ofthese

R ——TE—

MP % discount MP % discount

P 2000 25% - 40%
Q - 20% 2500 30%
R 2000 45% 1500 30%
S 3600 50% - 35%
T - 30% 2800 40%
U 3000 25% - 10%



9) Find the sum of S.P of article U on Monday and article Q on Tuesday .

AT T ol g AR HITAR Al oW F HI [Teht Fed &1 T Gist|

a) 5000 b)4550 c)4000 d) 3350 e) none of these
- MP % discount MP % discount
P 2000 25% - 40%
Q - 20% 2500 30%
R 2000 45% 1500 30%
S 3600 50% - 35%
T - 30% 2800 40%
U 3000 25% - 10%



10) Raj bought article U on Monday and Seema bought same article on Tuesday . Seema paid Rs 270 less
than Raj . Find the profit percent on article U on Tuesday if the C.P of article U on Tuesday is Rs 1800.

Wﬁﬁﬂﬁf{ﬂ#@@ﬁaﬂaﬁ?mﬁmmqu G g @ACT | AT F TS § 270 YT FHA
RAT | HITTAR T o”G U TR oIS TIaRId AT Y I FIedR HT o U dT oITd Hed 1800 &

&

a) 15% b) 10% c) 15.5% d) 14.75% e) can’t be determined

-

MP % discount MP % discount

P 2000 25% - 40%
Q - 20% 2500 30%
R 2000 45% 1500 30%
S 3600 50% - 35%
T - 30% 2800 40%
U 3000 25% - 10%



Q11) Direction : Arnab deposited Rs ‘K’ in a scheme which gives simple interest . Find the value of “K”.
I: The total sum becomes Rs 14000 in 4 years and becomes Rs 18000 in 8 years .
Il : The rate of interest Is 10% .

fAEA : 31 o TTUROT ST o¥ dTell Arolall H 'K U FTAT fhU| "K' T AT AT S0
;% TIRY 4 aut # 14000 T4 g1 AT & 3 8 sl # 18000 ¥4 g ATl &l

I1: SATST X 10% g

a) | alone sufficient but Il alone not sufficient b) Il alone sufficient but | alone not sufficient

c) I and Il both required d) Either | or Il alone is sufficient e) Data inadequate




Q12) Find the two digit number
| — The ratio between the number and sum of the digit of that number is 5:2
Il — The digit in ten’s place is 4 less than the digit in unit place

ar 37l @ G&aT A Hifaw

-39 {-I{AI *ﬂﬁ#@rmﬁ?ﬁm%aﬁﬂw 39T 5:2 . ®

|- 2ETS & TUTT T 3 SHS TAH & 3iF T 4 F7 &

a) | alone is sufficient b) Il alone is sufficient c) Either | or Il alone is sufficient d)
Both together required e) Even both together are not sufficient




Direction(13-15): There are some members (M+F) in club A and Club B of Ajmer. In club A, female are 30% of
the total number of male members of club A and club B together . Total number of female are same as total
male in both clubs together . Male of club B is three times the number of females of club A.

A& (13-15): AT & FaId T AN Fold &1 H $© TGET (TH+TH) §| Fod AH, Fod A3 Folg
BF TBY TEEA T FeT TEAT HT 30% AT &l At Forat 3 fAemex ARemst $ o dEar oSt
@raa—or'\qwé:m?r%l Foldl B T2V, WAﬁﬂ%ﬂT&ﬁ@rmweﬁﬂw%l

Q13) Find total members of club A is how much percent more/less than the total members of club B ?
FoId AF ol TGEA! AT HEIT, 9 BF Fod Al @ fhaa gfdera sfw/sa 82
a) CND b) 77.77 % c) 75% d) 100% e) none of these



Q 14) Number of males of club A is how much percent of total members of club A &

B together? ‘ ‘

FoId A¥ TEST T FEAT, Foq AR BF For Faeal F Aemat fraer vfaera
g7

a) 20% b) 4.54% c) 7.55% d) CND e) none of these



Q15) Number of males in club A and B together is approximately what percent of female

of clubB?
Ford AR B TAemER qeul Fr e, Foa By ARH FT orsrer v

gfaera 82
a) 172% b) 150% c) 133.33% d) CND e) 143%



Q16 ) The quarter circles are cut from the two opposite corners of a square . The area of the
remaining portion is 91 cm?. The radius of quarter circle is 33.33% of the side of the square .

What is the perimeter of the remaining figure ?

IS gd T I9T & g AT ST T FIC I &1 AT AT HT &3TBT 91 JAR
g1 =g ga i Fisar @t i om @ 33.33% ¥ AV Il H IRHT F=T &2
a)42 cm b) 49 cm c)39cm d)32 cm e)35cm




Q17) A bag contains 4 red and 4 black balls , another bag contains 2 red and 6 black balls .
One of the two bags is selected at random and two balls are drawn at random without
replacement from the bag and are found to be both red . Find the probability that the balls

are drawn from first bag.

Teh Iol H 4 ol 3R 4 Flell 91¢ 8, @Y U H 2 o1 3R 6 rell Ic gl a
S H H Teh I JrewodT oIl Sl § 3R &6 el A 997 F Jeo 91 Jreesn
fAhTelT STdT & 3R el ool 36T & 918 ATl g1 Igel 87 & 3 Fehrer ST &hr
YIidehdl ATd HISIT|

a) 3/28 b) 6/7 c) 3/7 d) 5/28 e) none of these




Q18) The diameter and height of a cone are 20 and 25 cm respectively. If the diameter
isincreased by % and the height is increased by %, the volume of the cone
would increase by 80%. Which of the following values can we fill in the same order?

Ueh 2% ol O 3R 3915 A 20 IR 25 aAT gl I @ & % 3R
Fars © % & gefd §% 8, A o AT 80% TG S| AR 7 &
FT TT AT g7 3T HH F I TS &2

a) 25,20 b) 30,10 c) 10,40 d) 20,25 e) none of these




Q19) Raj has two type of grapes . One is fresh grapes containing 75% water and another dry
grapes containing 20 % water . He sells 20 kg dry grapes, by adding water to the dry grapes
at cost price . What is the total profit percentage when after adding water the weight of 20
kg dry grapes mcreased in the proportion of water in fresh grapes ?

ST & 91 &l 9o & 36R g1 Ueh drell 3P o 75% el glam & 3 gaan
@1 3R foaH 20% gt 81T &) a8 iRE] H?RT A Ul AT, dRTd o8 W,
ZOﬁﬂT'\q—@'HdN ST Bl Eh—oralTSTEIﬁr%ld 0 %aam?ﬁmﬁra:am qy
3R A JoTeT dTo MR H ot & 3I9Td # 9 ST 87

a) 275% b) 200% c) 80% d) 220 % e) none of these




Q20) Two set of series is as under:

| : It contains four consecutive odd numbers, whose average is 28.

Il : It contains three consecutive even numbers . The sum of the second and third number
of series | is equal to the largest number of series Il . Find the sum of all the numbers of
series |l

HGAT & & 9C 30 YR &

: 38H IR HHATT OYT J&IT g, S 3ad 28 g

I1: SHH SR i A HE&IT gl §1 @l |3l gl AR el a&ar &
a7 @ |1 HY TIY T TEAT F T L G |1 hr T FEAT3M T AT
AT P

a) 126 b) 142 c) 152 d) 176 e) 162




Direction(21-24): Study the following passage carefully and answer accordingly:

P,Q and R invests in three business schemes X, Y and Z. The amount invested by P in X scheme is equal to
the amount invested by R in Z scheme. P invests 3/8t" of total amount in scheme Y . Q invests in scheme X
,Y and Z in ratio 5:9:6 respectively . R invests 1/3" of his total investment in scheme X and it also double of
investment of P in scheme X. The amount invested by Q in scheme Z is 50% of the amount invested by R
in scheme Y. Qinvest Rs 25000 in scheme X . The amount invested by P and Q in scheme Z is same .

féer: Rrafaf@a ae w1 caeqds Ireaae &Y 3R ageER 3w &

p, Q3R R, T AEERS AT X, v IR z& e Har 2 P EART X AoteT A foder & 1§
iy, zznam#Raamﬁa‘era?rﬂéuﬁa:W%l PERH Y For TR &7 3/8 af e
FIAT &1 QFERA X, Y3 z& FAT: 5: 9 63731m1aﬁﬁﬁarm%l R, FRIF X It Fel
ﬁrq‘arw1/3rdﬁﬁarm%3ﬁta€mﬂxﬁp$ﬁa‘eraﬂaﬁm%l QEART T 23
fader r 1§ afY REgamT TR YA Ader i a1 Tfr @1 50% B QTR XF 25000 TYX H
frer #3ar § | PR QEarT TR\ zA @3y v 1 TRr gAe B

Q21) Find ratio between total investment of P and Q in all schemes together ?

gaft Aorerat & PR QF Fo faew F fiT 1 3e[ua AT FMfw?

a)3:2 b)1:3 c)2:3 d)4:5 e) 2:4



Direction: Study the following passage carefully and answer accordingly:

P,Q and R invests in three business schemes X, Y and Z. The amount invested by P in X scheme is equal to the amount
invested by R in Z scheme. P invests 3/8t" of total amount in scheme Y . Q invests in scheme X ,Y and Z in ratio 5:9:6
respectively . R invests 1/3™ of his total investment in scheme X and it also double of investment of P in scheme X. The
amount invested by Q in scheme Z is 50% of the amount invested by R in scheme Y . Q invest Rs 25000 in scheme X..
The amount invested by P and Q in scheme Z is same.

Q21) Find ratio between total investment of P and Q in all schemes together ?

a)3:2 b)1:3 c)2:3 d)4:5 e) 2:4



Q22) Find the total amount Q get as a profit from all three scheme ?

I. Total amount of profit in scheme X is 2400 which is 50% more than the profit of scheme Y. P invests his
money for 8, 9, 10 months in X, Y and Z scheme respectively.

Il. Total amount of profit in Z scheme is 2800. R invests his money for 5, 7 and 8 month respectivelyinZ, Y
and X scheme respectively.

Il T @ A F TT H QFr A TR FT 9T 9M0?

l: TR X & 19T Y Fer TRr 2400 & ST THT Y F o197 & 50% 330F &1 P, FAw: X, ¥ 3 z

@ﬁn:ﬁrs 9, 10 AN F AT g HF F1 RIr FIaT B
zm#maﬁmmzsoo%mmﬁﬁmﬁﬁﬂz vy 3 X oo & FAHAY: 5, 7

3ﬁ18ﬂ€|ﬁa:1%rtrm%l

a) | alone is sufficient but Il alone is not sufficient b) Il alone is sufficient but | alone is not
sufficient
c) Either | or Il alone is sufficient d) Both together required e) Data inadequate

20000 30000 30000

Q 25000 45000 30000

R 40000 60000 20000



Q23) Quantity I. Total amount invested by P is what percent total amount of invests by R ?
Quantity Il. Total amount invested by P is what percent total amount invests by Q ?
AET I: PEART fAQer &Y 7§ Feor A, REFRT A A 7§ For TRA F71 fFdar wfoera g2
AT I Paamﬁlﬂara?rﬂémuﬂ Qmﬁmra?rﬂémuﬁmﬁmmqﬁam

g?

A-I<Il

B-I1>Il

C—1=1l or relationship cannot be established
D-I<II

E-I>1l

20000 30000 30000
Q 25000 45000 30000
R 40000 60000 20000



Q24) Find the difference of average amount spend in scheme Y and average amount spend in Z by all
three ?

Yot ¥ # @ Fr 715 3itaa af 3R z & A9 garr @ f aF 3w i F IR A
T ?

A-18333.3

B-2281.3

C-23223

_x vz
P 20000 30000 30000

Q 25000 45000 30000

R 40000 60000 20000



Q25) Quantity | : Percentage (numeric value) of vegetables thrown by shopkeeper.

A shopkeeper sells 60% of vegetable he had and throws away 25 % of the remainder. Next
day he sells 66 2/3% of the remainder and throws away the rest .

Quantity Il : 87449 +? = 67 X 58

AT | : GhTeIeR GdRT thebl a5 Fleatdl I IR (HEATcHS HAl)| Teh gehlelaR
YT 60% Teoll Sadr & 3R AW FT 25% Heh ¢l g1 30Tl f&oT ag AV & 66
2/3% &I ST § 3R A9 Hl Hheh T gl

HTAT 11 : 87449 ?=67X%X58

a) 1> 11 b)I <II c)l =11 d)I <11 e)l =11 or CND




Q26) Two dices are rolled simultaneously.

al 9 Ueh H1Y e |

Quantity I: Probability that the numbers shown on both dices are not same..
g ¢ fob glr arar ) fears 918 dEar 9 e 80 gl

Quantity Il: Probability that sum of the numbers shown on both dices are less than 6 .
AT g T il grar WX fe@rg 15 §Ear3it or J6T 6 § & gl
Quantity | > Quantity |l

Quantity | 2 Quantity |l

Quantity Il > Quantity |

Quantity Il 2 Quantity |

Quantity | = Quantity Il or Relation cannot be established




Q27) QI : Speed of the train P..
The length of train P and a platform are 264 m and 366m respectively and the train takes

18 sec to cross the platform.

Qll : Speed of train Q.
Train Q crosses a tunnel having length 358 m in 25 sec and crosses a signal post in 14 sec.

Ql: T P T T |

¢l P3 T TIewid I dels HHLT: 264 HieT 3T 366 Hiex § 3w &
TACTHIH T IR &l H 18 g & JHAT oI gl

Qll : ¢oT QT 17 .

¢oT Q358 e SIS dTell Teh FIIT I 25 Tdhs H IR T & 3N e Qeaad
e FY 14 5 & IR =T §

a)I>I BYI<I  o)I>I  dI<I e)l=IIorCND




Q28) Q| : Find the unit digit of (12378)142
Q Il : Find the unit digit of (168%4)%7
Ql : (12378)122 =] $°h|$ 3 AT
Qll: (16884)%7 &I S5 3eh AT HhIAT

a)I> 11 b)I <II c)l <11 d)l =11
e) I =1l or relation can't be established



Time of operation
Direction(29-32): A water tank was filled using 6 pipes, A, B, 12.50%

C, D, E and F. The pipes operated one at a time. The pie
charts below shows the percentage of the total time for
which each of the pipes was operating and percentage
portion of tank fill in that time .

f&er: e urell iy Sy F 6 9=y, A, B, C, D, ENN F
T 3TAET Flah T IAT UT| USY Uh dR H Teh i
AT X | AT AT 11 U9 A Fel AJ HI - =A =B C =D =E uF
yfarerd gaifar & o T 9cde 9ISy & X @

or 3R 3T GFT & &F &7 ufaea Rear s = Portion Filled
14.40%

o

mA B =(C D mE mF

Q29) What is the ratio of fill rates of pipes B and F
respectively ?
ShARM: TTSYT B 3T FhT $ROT T T 3e]TT AT § 7
a) 4:3 b)5:3 c)8:5 d)14:9

e) 35:18




Time of operation
Direction(29-32): A water tank was filled using 6 pipes, A, B, 12.50%

C, D, E and F. The pipes operated one at a time. The pie
charts below shows the percentage of the total time for
which each of the pipes was operating and percentage
portion of tank fill in that time .
Q29) What is the ratio of fill rates of pipes B and F
respectively ?
a) 4:3 b)5:3 c)8:5 d)14:9

e) 35:18 mA B uC »D mE nF

Portion Filled

o

HBA B uC uD mE =F




30) It is known that pipe A was operative for 5 hours. If it
were working at 75% of its efficiency, how long would it
take to fill 60% of the tank ?

AT EIM & fob 9159 ASEC el ATI ARG Tg 3=
ZaTdT & 75% WX I T IET T, af 3/ 60% &F
Pl e H Thdall AT o309 ?

a) 16 hrs b) 18 hrs c)20 hrs d)25 hrs
e)26 hrs
-__-___
Time

Water 160 168 168 120 240 144

Time of operation
12.50%

mEA B n(C D mE mF

Portion Filled

"=

mA mB nC D mE mF




31) Suppose the total operating time of the pipes is 20 Time of operation

hours and the volume of the tank is 1000 L. What portion 12.50%
of the tank will remain empty if pipes A and B operate ‘
together for 6 hours ?

AT ST ¥ qE6t 1 Fer aRETe T 20 e ‘
g 3R && &1 HId 1000 <feX g1 IS 913y A
3 BUS YT 6 G doh A Hd & af & &1 105

fohdar feTar @relt Qam?

a) 22% b)25%  c)28% d) 30% e)32% A B uC oD mE o
/a8 jc b JE [F Portion Filled
Time 25 30 35 20 40 50

14.40%

Water 160 168 168 120 240 144

12%

>
5

BA B uC uD =mE uF




Q32) If efficiency of pipe E is reduced by 25% and efficiency
of pipe D remains as usual, then efficiency of pipe D is
how much percent less/more than pipe E ?
gfe a8y EfT eeTdr 25% FH & JAdr &, 3R
qiSq D I &&TdT A2 hl g I8dl §, al 9isd D &l
G&TdT Ursy EJ fohaer ufaerd /318 872
a) 33.33% b) 66.66% c) 25% d)40% e)15%
a8 e o e [F
Time 25 30 35 20 40 50
Water 160 168 168 120 240 144

Time of operation
12.50

./
G

mEA B m(C D mE mF

Portion Filled

14.40

mEA BB mC

=

D mE =F




Find out the value of ? In following number series ?
ffafad aear g & (?) &1 A AT HIfFe?
Q33) 1/8 1/9 1/5 1
a) 3 b) 2/3 c)7 d) 11 e) 2




Q34) A series is 1, 2 9 44 235 1434
Another series which follows same pattern is:
Ueh 3 HTAT S AT Y&oT I 3TEOT HIA § I8 &
3, - mmemeem e a
Find the value of a .
a) 1444 b)2256 c) 1254 d)2874 e)3264




Direction: In the following number series, one number is wrong. Find out that wrong
number ‘ ‘ ‘ ‘ ‘

fder: Prarfaf@a wear s/@ar &, & §&AT Ted 81 39 T A9 HT qaT
LY

Q35) 10, 9, 13, -4, 20, -5,
a) 10 b) -4 c)9 d) -5 e) 20



Direction: In the following number series, one number is wrong. Find out that wrong
number

forder: farafaf@a ¥ear J@ar &, vF §&A1 Tad 81 39 T daC HT Gl
T

Q36) 7, 23, 58, 127, 269, 555

a) 23 b) 127 c) 269 d) 58 e) 555



feem: f&am 9= X@r IE AT T H IR HSI-3AeT Ardr il fhaAvger # afd 3R 38 gfaerd ar
A TN & TS e EaRT ETarg # aF HT 7S gl Yodeh #A1d GaRT URT & Yidedhel o HT TS g
4 3fae Bl

24
14 15
12
0,
25% 75% 20% %
A B C D

—Speed of the boat in still water

Percentage by which the distance travelled in downstream is more than
that in upstream

Q37) Ife ATd ACIRT URT & Yfddhel R ITUAE &l # o HT g Fel gl 432 el g, 3R
W%W?ﬁdq T H 3G @RI ToHAT AT TAT YRT & 3felehel g3l &l dF I H
oHle dTel AT § 12 °¢ 31fAF §, Al d1d €@RT 4RT & 36Jhel g T 3 H forar o= &y
SIGECAIE U NCUN

a) 24 hrs b) 18 hrs c) 12 hrs d) 8 hrs e) none of these




Direction: The given line graph shows the speed of four different boats in km/hr in still water and the
percentage by which the distance travelled in downstream is more than the upstream by each boat .

24
14 15
12
0,
25% 75% 20% %
A B C D

—Speed of the boat in still water

Percentage by which the distance travelled in downstream is more than
that in upstream

Q37) If the total distance travelled by boat A in both upstream and downstream is 432km, and the time
taken by it to cover upstream distance is 12 hours more than the time taken to cover downstream distance,
then find the time taken by the boat to cover downstream distance .

a) 24 hrs b) 18 hrs c) 12 hrs d) 8 hrs e) none of these



Q38)If difference between down stream and up stream distance travelled by boat D is 125
km . Time taken by the boat in downstream journey is 75 minutes more than time taken in
upstream journey . Find speed of stream ?

Afe ATd DE@RT T &Y I 33T TH 3R IIEHA gt & ST T AR 125
fordlY &1 AATd SaRT 3eqydTE AT H ol dT -1 FAY URT & Yidehel T & AT
T AT § 75 fAeTe 3% &1 OnT & afg AT SR ?

a) 3 km/hr b) 5 km/hr c) 2 km/hr d) 10 km/hr e) none of these
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—Speed of the boat in still water

Percentage by which the distance travelled in downstream is more than
that in upstream



Q39) If for boat C, speed of boat in still water is 200% more than speed of stream . Find
ratio between time taken by boat in down stream journey to time taken in up stream
journey ?

Elﬁm‘q'cé?%rtf%ud STl & AT T T ORT S5 a1fa T 200% 31k g1 23T
TEH IMET A o9 aRT AT 30 AT &7 I9ECTH I H folT 90 g7 & o

$T 3HeIqTd AT FIia ?

a) 2:5

b) 4:3 c) 3:5 d) 2:3
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—Percentage by which the distance travelled in downstream is more than
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e) none of these
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Q40) For boat D, Ratio of down stream journey time to up stream journey time is 9:8,

then down stream speed is how much percent more than upstream speed ?
Td Dé? foIT, SEBAEdA AT AT &1 IHIEAH ATHT FHI &1 3Heqqrd 9:8 g, al

SEAEEH A, A Ay F frden wfaerd 3if0e &2

b) 100% c) 60% d) can’t be determined e) none of

a) 50%
these
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—Percentage by which the distance travelled in downstream is more than
that in upstream
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